Partdrawing for DUR194ZX3 - Trimmer

Model No.DUR194 CORDLESS GRASS TRIMMER




Partdrawing for DUR194ZX3 - Trimmer

Nr.

001
001C10
001C20
001C30
001C40
002
005
005C10
005C20
005C30
005C40
007
008
009
010

011

012
013
013C10
014
015
016
017
017C10
017C20
017C30
018
019
020
021
022
023
024
025
026
027
028
029
029C10
030
031
032
033
034
035
036

Part nr.
183W20-8
213021-5
233072-2
256546-6
412408-0
629B20-3
183W20-8
213021-5
233072-2
256546-6
412408-0
168526-9
266326-2
210215-3
227950-6
327542-2
210216-1
140T23-7
213134-2
347668-4
264025-0
424567-8
141K17-1
819312-8
808723-2
8050N8-5
251513-6
347667-6
140W25-1
413F99-6
266326-2
413L67-5
922212-4
347011-7
922212-4
347116-3
263005-3
183Vv24-4
263005-3
231473-8
413G02-3
699195-0
413G01-5
632T87-0
650029-2
620J07-6

Name

Motorhuisset DUR194
O-Ring 5

Drukveer 8 9541-9542
Kraagpin 4Mm Dga505
Afdekkap DUR190

Motor DC DUR194
Motorhuisset DUR194
O-Ring 5

Drukveer 8 9541-9542
Kraagpin 4Mm Dga505
Afdekkap DUR190
Beschermkom

Tap Schroef 4X18mm P
Kogellager 69577 P
Tandwiel 31 DUR194

As DUR190

Kogellager 6001DDW P
Draaischijf DUR190

O-Ring 11 Ar410

Flensring DUR190

Moer M10 Ms245.4Ue A
Rubber Bus 24 At1831

Buis cpl B DUR194

Makita Logo Label Ebh253U
Waarschuwingslabel Pe-254.4A
Label waarsch DUR194
Inbusbout M5X25 Em404Mp
Montagebeugel DUR190
Snijbeschermkap DUR194
Beschermkap DUR194

Tap Schroef 4X18mm P
Stuurbeugel 24 DUR194 A
Inbusbout M5X12
Handgreepbevestiging 29Mm
Inbusbout M5X12

Hanger Dur188

Rubber Pen 6 AC320H P
Handgreepset DUR194
Rubber Pen 6 AC320H P
DRUKVEER 4 P
Toerenregelhendel DUR194
Circuitset DUR194

A/U knop DUR194
Schakelaarset DUR194
Schakelaar DUR194
Controller DUR194

'H!!l,;!!!‘fl




Partdrawing for DUR194ZX3 - Trimmer

Nr.

037

038

039

040

041

042
042C10
043
044
045
045C10
046

Part nr.

231473-8
413714-6
643874-2
8118Y1-4
266326-2
183Vv24-4
263005-3
8118X5-9
688163-8
143695-7
911128-8
451601-1

Name

DRUKVEER 4 P
Schakelaarhendel DUN461W
Aansluitunit Dhp483

Label serienr. DUR194

Tap Schroef 4X18mm P
Handgreepset DUR194
Rubber Pen 6 AC320H P
Naamplaat DUR194

Lijn Filter Bfs441

Hendel Compleet Em2653Lh
Schroef 4X16 P
Afstandhouder Bbc300L

'H!{l,;!!!‘fl




